Edge of Arlington Saw & Tool, Inc.

124 South Collins Arlington, TX 76010

Phone:817-461-7171 • Fax: 817-795-6651

Toll Free: 888-461-7171 Email: <u>info@eoasaw.com</u> Website: www.eoasaw.com



Viking Drill & Tool General Purpose HSS Screw Machine - Titanium Nitride Type 260-BN: Wire

Thank you for shopping with us!

118° Point - High-Speed Steel - General Purpose, Bright-Flute thru 3/4" diameter. Surface treated flutes over 3/4" diameter. • Can be used for all screw machines qualified to run in all applications. • This drill is designed for ease of penetration and to facilitate chip removal in tough, hard materials. • May also be used in portable drilling equipment. Titanium Nitride: Performs well in mild drilling applications with abrasive wear characteristics

Item #	Manufacturer	Flute	Wire	Overall Length	Unit Price	Pack Quantity	Price
24643	Viking Drill & Tool	1 5/16 in flute length	1	2 7/16 in	\$4.84	6	\$29.04
24653	Viking Drill & Tool	1 5/16 in flute length	2	2 7/16 in	\$4.84	6	\$29.04
24663	Viking Drill & Tool	1 1/4 in flute length	3	2 3/8 in	\$4.74	6	\$28.44
24673	Viking Drill & Tool	1 1/4 in flute length	4	2 3/8 in	\$4.74	6	\$28.44
24683	Viking Drill & Tool	1 1/4 in flute length	5	2 3/8 in	\$4.74	6	\$28.44
24693	Viking Drill & Tool	1 1/4 in flute length	6	2 3/8 in	\$4.74	6	\$28.44
24703	Viking Drill & Tool	1 3/16 in flute length	7	2 1/4 in	\$4.36	6	\$26.16
24713	Viking Drill & Tool	1 3/16 in flute length	8	2 1/4 in	\$4.36	6	\$26.16
24723	Viking Drill & Tool	1 3/16 in flute length	9	2 1/4 in	\$4.36	6	\$26.16
24733	Viking Drill & Tool	1 3/16 in flute length	10	2 1/4 in	\$4.36	6	\$26.16

24753 Viking Drill & Tool 1 3/16 in flute length 12 2 1/4 in \$3.24 6 \$19.46 24763 Viking Drill & Tool 1 1/8 in flute length 13 2 3/16 in \$3.24 6 \$19.46 24773 Viking Drill & Tool 1 1/8 in flute length 14 2 3/16 in \$3.24 6 \$19.46 24783 Viking Drill & Tool 1 1/8 in flute length 15 2 3/16 in \$3.24 6 \$19.46 24793 Viking Drill & Tool 1 1/8 in flute length 16 2 3/16 in \$3.24 6 \$19.46 24803 Viking Drill & Tool 1 1/8 in flute length 17 2 3/16 in \$3.24 6 \$19.46 24813 Viking Drill & Tool 1 1/16 in flute length 18 2 1/8 in \$3.08 6 \$18.46	
24773 Viking Drill & Tool 1 1/8 in flute length 14 2 3/16 in \$3.24 6 24783 Viking Drill & Tool 1 1/8 in flute length 15 2 3/16 in \$3.24 6 24793 Viking Drill & Tool 1 1/8 in flute length 16 2 3/16 in \$3.24 6 24803 Viking Drill & Tool 1 1/8 in flute length 17 2 3/16 in \$3.24 6 \$19.46	44
24783 Viking Drill & Tool 1 1/8 in flute length 15 2 3/16 in \$3.24 6 24793 Viking Drill & Tool 1 1/8 in flute length 16 2 3/16 in \$3.24 6 24803 Viking Drill & Tool 1 1/8 in flute length 17 2 3/16 in \$3.24 6 \$19.46 \$19.46	44
24793 Viking Drill & Tool 1 1/8 in flute length 16 2 3/16 in \$3.24 6 \$19.46 24803 Viking Drill & Tool 1 1/8 in flute length 17 2 3/16 in \$3.24 6 \$19.46	44
24803 Viking Drill & Tool 1 1/8 in flute length 17 2 3/16 in \$3.24 6 \$19.4	44
	44
24813 Viking Drill & Tool 1 1/16 in flute length 18 2 1/8 in \$3.08 6 \$18.46	44
	48
24823 Viking Drill & Tool 1 1/16 in flute length 19 2 1/8 in \$3.08 6 \$18.4 5	48
24833 Viking Drill & Tool 1 1/16 in flute length 20 2 1/8 in \$3.08 6 \$18.4	48
24843 Viking Drill & Tool 1 1/16 in flute length 21 2 1/8 in \$3.08 6 \$18.4	48
24853 Viking Drill & Tool 1 1/16 in flute length 22 2 1/8 in \$3.08 6 \$18.4	48
24863 Viking Drill & Tool 1 in flute length 23 2 1/16 in \$3.08 6 \$18.4 5	48
24873 Viking Drill & Tool 1 in flute length 24 2 1/16 in \$3.08 6 \$18.4 5	48
24883 Viking Drill & Tool 1 in flute length 25 2 1/16 in \$3.08 6 \$18.48	48
24893 Viking Drill & Tool 1 in flute length 26 2 1/16 in \$2.92 6 \$17.5	52
24903 Viking Drill & Tool 1 in flute length 27 2 1/16 in \$2.92 6 \$17.5 3	52
24913 Viking Drill & Tool 15/16 in flute length 28 1 15/16 in \$2.82 6 \$16.93	92
24923 Viking Drill & Tool 15/16 in flute length 29 1 15/16 in \$2.82 6 \$16.93	92
24933 Viking Drill & Tool 15/16 in flute length 30 1 15/16 in \$2.82 6 \$16.93	92
24943 Viking Drill & Tool 7/8 in flute length 31 1 7/8 in \$2.74 6 \$16.44	44
24953 Viking Drill & Tool 7/8 in flute length 32 1 7/8 in \$2.74 6 \$16.44	44
24963 Viking Drill & Tool 7/8 in flute length 33 1 7/8 in \$2.74 6 \$16.44	44
24973 Viking Drill & Tool 7/8 in flute length 34 1 7/8 in \$2.74 6 \$16.44	44

24983	Viking Drill & Tool	7/8 in flute length	35	1 7/8 in	\$2.74	6	\$16.44
24993	Viking Drill & Tool	13/16 in flute length	36	1 13/16 in	\$2.74	6	\$16.44
25003	Viking Drill & Tool	13/16 in flute length	37	1 13/16 in	\$2.74	6	\$16.44
25013	Viking Drill & Tool	13/16 in flute length	38	1 13/16 in	\$2.74	6	\$16.44
25023	Viking Drill & Tool	13/16 in flute length	39	1 13/16 in	\$2.74	6	\$16.44
25033	Viking Drill & Tool	13/16 in flute length	40	1 13/16 in	\$2.74	6	\$16.44
25043	Viking Drill & Tool	13/16 in flute length	41	1 13/16 in	\$2.74	6	\$16.44
25053	Viking Drill & Tool	3/4 in flute length	42	1 3/4 in	\$2.74	6	\$16.44
25063	Viking Drill & Tool	3/4 in flute length	43	1 3/4 in	\$2.74	6	\$16.44
25073	Viking Drill & Tool	3/4 in flute length	44	1 3/4 in	\$2.74	6	\$16.44
25083	Viking Drill & Tool	3/4 in flute length	45	1 3/4 in	\$2.74	6	\$16.44
25093	Viking Drill & Tool	3/4 in flute length	46	1 3/4 in	\$2.74	6	\$16.44
25103	Viking Drill & Tool	3/4 in flute length	47	1 3/4 in	\$2.74	6	\$16.44
25113	Viking Drill & Tool	11/16 in flute length	48	1 11/16 in	\$2.74	6	\$16.44
25123	Viking Drill & Tool	11/16 in flute length	49	1 11/16 in	\$2.74	6	\$16.44
25133	Viking Drill & Tool	11/16 in flute length	50	1 11/16 in	\$2.74	6	\$16.44
25143	Viking Drill & Tool	11/16 in flute length	51	1 11/16 in	\$2.74	6	\$16.44
25153	Viking Drill & Tool	11/16 in flute length	52	1 11/16 in	\$2.74	6	\$16.44
25163	Viking Drill & Tool	5/8 in flute length	53	1 5/8 in	\$2.74	6	\$16.44
25173	Viking Drill & Tool	5/8 in flute length	54	1 5/8 in	\$2.74	6	\$16.44
25183	Viking Drill & Tool	5/8 in flute length	55	1 5/8 in	\$2.74	6	\$16.44
25193	Viking Drill & Tool	1/2 in flute length	56	1 3/8 in	\$2.74	6	\$16.44
25203	Viking Drill & Tool	1/2 in flute length	57	1 3/8 in	\$2.74	6	\$16.44
25213				1 3/8 in	\$2.74	6	\$16.44

25223	Viking Drill & Tool 1/2 in flute length	59	1 3/8 in	\$2.74	6	\$16.44
25233	Viking Drill & Tool 1/2 in flute length	60	1 3/8 in	\$2.74	6	\$16.44